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QUESTION 1

Workspace ONE VMware Tunnel supports which X.509 certificate file format?
A. .pfx

B. .p7s

C. .pem

D. .p12

Correct Answer: A

QUESTION 2
Users are reporting to IT they are getting an error when attempting to launch mobile apps that require VPN to access.

Which command would an IT Administrator need to run to check the status of the Tunnel Per-App VPN service on the
Unified Access Gateway (UAG)?

A. systemctl status pavpn
B. systemctl status vpnd
C. service status vpnd

D. service status pavpn

Correct Answer: B

QUESTION 3

When configuring profiles in the Workspace ONE UEM Console for Android devices, why would some setting features
and payloads be supported for specific original equipment manufacturers (OEMS) and/or operating system (OS)
versions?

A. Profile configuration requires a device directly purchased from Google

B. Profile configuration requires an application built with the Airwatch SDK installed on the device

C. Profile configuration is dependent on operating system and firmware API availability

D. Profile configuration is XML-based and depending on the OEM or OS, the device may not support XML

Correct Answer: C

QUESTION 4
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Which three occur on an Android device when it goes through Adaptive Management and becomes Workspace ONE

Managed? (Choose three.)

A. The Android for Work version of VMware Workspace ONE app gets activated.

B. The Android device immediately goes through Android OS update.
C. The original VMware Workspace ONE app gets de-activated.

D. The Work folder gets created on the Android device.

E. The Android device prompts user to backup internal storage to Google Cloud.

Correct Answer: ABD

QUESTION 5

What type of authentication token is used by the IDM API?
A. SAML

B. 0Auth2

C. MS-CHAP

D. WS-FED

Correct Answer: AB

Reference: https://github.com/vmware/idm/wiki/Choosing-The-Right-Auth
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